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Solution of lecture-5 

Chapter: Measurement  

Answer :1       

    a .       2 weights of 1 kg = (2×1) kg               = 2kg 

              1 weight   of 500gm = (1×500) gm       = 500gm 

  2 weights of 100gm = (2×100) gm       = 200 gm 

Total weights        =   2kg 700 gm 

 

   Ans: The weight of rice was 2 kg 700 gm. 

                

    b .      1 weight of 1 kg = (1×1) kg                 = 1kg 

              1 weight of 200gm = (1×200) gm       =   200gm 

  1 weight of 50gm = (1×50) gm           =  50 gm 

Total weights        =   1kg 250 gm 

 

                              Ans :It requires at least 1 weight of 1 kg , 1 weight of 200 gram and  

   1 weight of 50 gram. 

 

c.     2 weights of 1 kg = (2×1) kg               = 2kg 

              1 weight of 500gm = (1×500) gm       = 500gm 

1 weight of 200gm = (1×200) gm       = 200gm 

  1 weight of 50gm = (1×50) gm           =  50 gm 

                     Total weights        =   2kg 750 gm 

         Ans :It requires at least 2 weights of 1 kg, 1 weight of 500  , 1 weight   

            of 200 gram and 1 weight of 50 gram. 

 

   Extra: 

d.      1 weight of 1 kg = (1×1) kg                 = 1kg 

              1 weight of 500gm = (1×500) gm       = 500gm 

 1 weight of 200gm = (1×200) gm       = 200gm 

 1 weight of 50gm = (1×50) gm           =  50 gm 

Total weights      =   1kg 750 gm 

                         Ans: The weight of rice was 1 kg 750 gm. 
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  e.     1 weights of 1 kg = (1×1) kg                    = 1kg 

              1 weight of 500gm = (1×500) gm       = 500gm 

2 weights of 200gm = (2×200) gm       = 400gm 

Total weights         =   1kg 900 gm 

                              Ans:It requires at least 1 weight of 1 kg , 1 weight of 500 gram and  

   2 weights of 200 gram. 

Answer :2       

                     c. we know, 

                             1000 g = 1 kg 

                

                    Therefore, 10000 g =  
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Answer :3       

a. We know, 
                 1 kg = 1000 gm 

 Therefore, 7 kg = 7 x 1000 = 7000 gm 
 

7 kilogram 300 gram =7000 gm + 300 gm 

                                    = 7300 gm 

Ans:     7 kilogram 300 gram =   7300   gm 

b.  We know, 
                 1 kg = 1000 g 
 Therefore, 8 kg = 8 x 1000 = 8000 gm 
 

8 kilogram 850 gram 

  =8000 gm + 850 gm 

 = 8850 gm 

      Ans:     8 kilogram 850 gram = 8850 gm 

 

                         c. We know,        

                             1000 gm = 1 kg 
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                     Therefore, 6000 gm  

 

 

 

  

                                

 

 

        Ans:     6000 gm = 6  kg 
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